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1. Inavideo game, a guppy that escapes a net turns into three goldfish.
| Each goldfish can turn into two betta fish. Each betta fish can turn into
;‘ two angelfish. Complete the diagram and write the number of fish at
; each stage. Write and evaluate an expression for the number of angelfish
|
{

that can be formed from one guppy. (Fxplore Activity)

< Tguppy  «&)
~— 3goldfish  aZ&

/—; 3 §x2bettafish

s

-

”I % 2&)/( - g]mzw\ angelfish @

7/

3 X 22 =12 angelfish

Complete to simplify each expression. (Examples 1 and 2)

2. 4+(10-77+3=44(_3 y-3 3.36:24x2=36+_"  —4x2
=44 _9 +3 - 9 _ax2
44 3 -_9 s
. & _ 1

4. 2+ (-24+2)—9=2+(-24+ 8 )-9 5 —#x(-3x2+8)=-4x(_048)

24 _—3 9 — g x_ 2
- 1 _—16 , 2
_—10 - —32

6. How do you use the order of operations to simplify expressions with
exponents?

Find the value of any expressions within parentheses first.

Then evaluate all powers. Then multiply or divide from

left to right, and finally add or subtract from left to right.
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1t
o the Error Jay simplified the expression —3 x (3 4 12 + 3) — 4

he added 3 + 12 to get 15. What was Jay’s error? Find the

3. explal
cor his first SteP:
correct answer.

vorked inside the parentheses first, but he should

ave performed the division 12 =+ 3 = 4 first; —25.

(4, Multistep A clothing store has the sign shown in the shop window. INNAAAANA

pani sees the sign and wants to buy 3 shirts and 2 pairs of jeans. The SALE il‘\’ffj“f QN':Y}

cost of each shirt before the discount is $12, and the cost of each pair m Y
of jeans is $19 before the discount. off every purchase!

a. Writeand simplify an expression to find the amount Pani pays if
a $3 discount is applied to her total.
3x12+2X 19 — 3; $71
$3 discount on the price of each shirt and

f each pair of jeans. Write and simplify an
Id pay if this is true.

b. Pani says she should get a
a$3 discount on the price 0
expression to find the amount she wou

3x(12-3)4+2X (19 — 3); $59

¢ Analyze Relationships Why are the amounts Pani pays in a and b

different?
In part a, the $3 discount is applied 1 time, inbitis
applied 5 times.

d. Ifyou were the shop owner, how would you change the sign’ Explain.

C: — | .
sample answer: If the shop owner wants to make more
your entire purchase.

Money, the sign should say "33 off

If customers can take the discount off ever

y item, a [ot

m e : R——
Ore money is discounted from each purchabt.
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